
Développements limités

> taylor(sin(x),x,0,10);
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> taylor(sin(x+%pi/3),x,0,4);
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> taylor(tan(x+PI/4),x,0,2);
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> taylor(sin(a*x)-sin(b*x),x,0,3);
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> taylor(log(1+x+sqrt(1+x)),x,0,6);
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> assume(x>0);

[x > 0]

> taylor(atan(x),x,inf,6);
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> taylor(1/(1-cos(x)),x,0,8);
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> taylor(sin(tan(x))-tan(sin(x)),x,0,10);

−x7

30
− 29 x9

756
+·· ·

SyracuseSyracuseSyracuseSyracuseSyracuseSyracuseSyracuseSyracuseSyracuseSyracuseSyracuseSyracuseSyracuseSyracuseSyracuseSyracuseSyracuseSyracuseSyracuseSyracuseSyracuseSyracuseSyracuseSyracuseSyracuseSyracuseSyracuseSyracuseSyracuseSyracuseSyracuseSyracuseSyracuseSyracuseSyracuseSyracuseSyracuseSyracuseSyracuseSyracuseSyracuseSyracuse
C

al
cu

ls
 a

ve
c 

M
A

X
IM

A
2


